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


45



()2

2 
   








 



 
 
G=f©


.
.
 









G=f©

 
 

T=Σλi[Xi]

1



 

2


G


 

iλ

T=Σλi[Xi]G=kC
 
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)20-أ -( 
1




2

)2(


 




 

1–––––––
– G.B.F ––

–




 

1 
11 
 

12 
13 
 
)H2OHCL( 
2 

21 
3 

31R
32G
33G 
 
– 



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
1 

 
11

 
1 
 
01110 
 

    
1 (KMnO4)6 (C2H5-OH)
2 ( NaCl)7  
3 CuSO4) 8 (BaSO4)
4  9  
5  10  
 

 
 

 
 
 

 
 

 1 2 3 4 5 6 7 8  10 
           

           
 
01 

’’
 

12 
02 
02 

04104
 
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 
 

 
 
 1 2 3 4 

 KMnO4NaCl CuSO4  
     

 
131

3
Cu+2

 
 
02 

’
 

 
3 
 
03(20ml)

 
 1 2 3 
(mL)20 20 20 

(mL)5 20 30 
    
    
  

 
 

 
03 
’

 
 
 
 
 
 
 
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 
2 
21 

01 
 

 
 

KMnO4 
KMnO4
 

KMnO4 
K+MnO-

4
 

’(CuSO4)         ( NaCL) 


 
(CuSO4) 

( NaCL) 
– 
 

 
 

 
04 

’ 
‘


 

 
 
 
 
 





02
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 
 

22 
H2O 

 
 


 

 


 
 

 
 
 





 

 
HCL 

 
 

 


 

 
 
 

 



 
 
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 


 
 
 


 
 

113.5moL1L



 

 
 

 
HCL

 

 
 
 
HCL  +  H20                 H3O+ +   CL-

 

CL-H3O+ 
 

2 
21 

 
 

K2SO4 , CuSO4 , K2Cr2O7123 
 

 

 




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 
 
 

1 
2 
3 

CuSO4(Cu+2)(SO4
2-) 

K2SO4(K +)(SO4
2-) 

K2Cr2O7(K +)(Cr2O7
2-) 

(Cu+2
(Cr2O7

2-K +)(Cr2O7
2-)

 
 

 
K2SO4

CuO4.5H2OK2Cr2O7 

 
 

 


 
10 
 

(Cr2O7
2- 

Cu+2
 





 




 
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RI
U(v)UVolt(v )IAmperes(A) 
R(Ω)=U(v)/I(A)

R(S.I)Ω
=1V/1A=1V.A -Ω1 

32 
G=1/R=I/U(S)

 
G

M+X-
RL

S

S
LeR 

L
S

eR
G 

11 


e
1
Conductivité 


S
LK  KG 
 
 
 
1210   LmolC
 M+


X- 



L][    MM
][ 

 XX][][ 
  XM XM  

- 
 

 

XM +


MX

 
CX-[M+ 

)   XM C 
KG)(   XMCKG  

][في محلول ممدد  بصفة عامة  ii X 

شكل الخلیة
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C
K

C
G XM 




 )( 
 

)( 2   ClCa C
K
G 

 
CaG GC

)Ca2++2Cl- 

CCa2+2CCl)2( 2   ClCaC  


)(nL)( 2nS1210   LmolC 


3210   Lmol

33101 mL  
25°C

  )..( 12 molmmSi    )..( 12 molmmSi 

aqH  35,0  HO-  19,9 

aqNa  05,0 


aqCl  7,63 


aqK  7,35 


aqBr  7,81 


aqNH4  7,34 


aqI  7,14 


aqAg  6,89 


aqnOM 4  6,13 
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33G 

01 


 
  
 (S) 
(L) 
U 
  

1 
 

 
 

11(f) 
 
01 

(Na++CL-)C=0.01mol/LV=50mL
Ө25 C

L=1cm     S=1cm2GBF 
 

1000 900 800 700 600 500 f(HZ)
2.4 2.4 2.4 2.4 2.4 2.4 I(mA) 
02 02 02 02 02 02 U(V) 
12 12 12 12 12 12 G(mS) 
 

 
G 

 
01G(f) 
 
 
 
 
 
 
 
 
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 
12(S) 

 
02 

(Na++CL-)C=0.01mol/LV=50mL
Ө    = 25 

L=1cm .(S)G
 

 
6 5 4 3 2 1 S(cm2)

7.08 5.90 4.72 3.54 2.36 1.18 G(ms) 
42.48 29.50 18.88 10.62 4.72 1.18 G*S 
1.18 1.18 1.18 1.18 1.18 1.18 G/S 
 

 
GS 
G=f(S) .



GS 
G= a*S
02 
GS 
 

13L 
03 

(Na++CL-)C=0.01mol/LV=50mL
Ө    = 25 

S=5cm2
L
 

5 4 2.5 2 1 0.5 L(cm)
1.18 1.47 2.36 2.95 5.9 11.8 G(ms) 
0.2 0.25 04 05 1 2 1/L 
5.9 5.88 5.9 5.9 5.9 5.9 G*L 

0.236 0.367 0.944 1.475 5.9 2.36 G/L 

 
 

LG 
G=f(1/L) 
 
GL 

G=b*1/L 
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 
14G 

 
04 

C=0.01mol/LV=50mL
 

G(ms) 
5.9 Na++CL- 

7.06 K++ CL- 
11.8 Na+ + OH+ 

 
G 
 

G 
 
 

15ӨG 
 
05 

(Na++CL-)C=0.01mol/LV=50mL
 

 53 17 2 Ө 
 15 7.2 5 G(ms)
 

 
GӨ 

 
05GӨ 
 

 
 
2345S

LS/LG= 
 
 
 
 
 
 
 
 
 
 
 





02
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 

02 
G=f( C ) 

 
 

1G=f( C )  
2 

 
 

1C 
 

 
 

–
 

C0=10-1mol/LV=100mL
(I)(U)G

 
 

10 9 8 7 6 5 4 3 2 1  
20 18 16 14 12 10 8 6 4 2 C(mol/L*10-3

          I(mA) 
          U(V) 
          G=I/U 
 

 
1 
2GC 

 


